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Logarithms Practice Quiz Solutions
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1. Considerthe graph of the exponential function flx) = LAl
(a) Describe the characteristics of the function, with respe he domain & range, intercepts, and asymptote|s).
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(c) Determine the equation of the inverse function.
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2. Forthefunctiony = —5log;{x + 3) state the indicated characteristics
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F ﬂgebml’m‘n‘y determine the |'nrer;E_,;ti,£thyDur work here.
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3. Expressinlogarithmic form: 122 = 144 4. Expressin egjonentlalform loglx +3) =
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5. Evaluate without using a colculotor: You must show all steps / reasoning
(a) logs125 = % (b)logyz27 = — 3
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6. Solve eachequation. [Showallsteps / justification}

(a) logsx=4 (b) log. () = -3 (c) l0ga32 =x l
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Use the laws of logarithms to simplify (write as a single log) and then evaluate each expression.
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9. Iflog3 = Pandlog5 = @, write an algebraic expression in terms of P and  foreach:
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10. If logx = 4, evaluate:

(a) log(100x) (b) log(2) = 1(552-—{0‘5(000
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11. Solve each equation algebraically.
(a) BFE =475 (b) log, x — log, 3 =5
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